@A TR o0\ UMD

Through-type Terminal Block

v F_,Pitch 10mm

T%e Num%er F2326AX

E ¥
Rating AC250V 15A
HEFF AT 500V 1000MQ LI E
g Insulation Resistance | DC500V 1000MQ and over
=1 it & £ 2000V 1 HELLE
\% Withstands Voltage |AC2000V 1 minute and over
plac] B & ER
EE—J Compati;l% Wire 1.25mm*
5.8 B+0.6 —f% /N7 / General Tolerance 0.5
3 ' 7' ’ REEScale /A HLfL Unit mm‘
> 10 10 1.4 8.6
[S
pod F-08 /Nominal| L D 0¥/ Nominal
1}% 3L 3 3 M3 (7viv—7%L/Without washer)

19.2L 19.2] 3.5 |[M3.5 (Tviv—aH1)/With washer)

S5
50
Y

H

¥ ‘ ¥
U N S
; A nthE - ?
- _ S T - FAMRT T
{1 || L F'J__\ T v © Example of a lead bent Outward
= e == o U ) BT
o ‘ : Example of a lead bent Inward
{ —

N
o)
[

\3!

3L Dk
3 3.6 I £ 3L
n case o
GilbaE-159)
o LIk 1 [HA ] [V-FEJL [ 713 ] syu [#%] p.
® Ordering Form : Type No. Screw Diameter Lead Length (L) Bent Length (S or U) No. of Poles (P)
(if bending is desired)
O FEMLY A L AT PV 2 13 M3£%0. 6N m, M3.5751.0N'm T,
(3L DWfiE M3, 19.2L DFFE M3.5& %) FTOTIEEL 23 W)
® Connection screw : Tightening torque is M3 : 0.6 N-m, M3.5: 1.ON-m.
(In case of 3L, M3 screw is available In case of 19.2L, M3.5 screw is available)
e FDfhA T ar k¥a—bhE—2Z (F2121)
® Other options *Jumper (F2121)
W14,/ Specification.
&,/ Part No. % #Part Name # B Material #1& /Standard ~Hik/Size 3/ Treatment fis %,/ Remark
1 £ W Base PBT UL B £ Black
2 AR Terminal # 4§ Brass C2680R W OE  t0.8 | AXAvF Tin-Plated
3 K e A Screw %  Steel SWCH:-SPCC WBE00R8E, | =orwtrk NickelPled | 325 TYER Tpel

B Poles | 1P| 2 | 3 | 4 | 5 |6 | 7 |89 |10 |11 [12]13 |14 |15 |16 |17 | 18 |19 |20 |21 |22
A 11.6 [ 21.6 | 31.6 |41.6 | 51.6 | 61.6 | 71.6 | 81.6 | 91.6 [101.6|111.6|121.6|131.6|141.6{151.6|161.6|171.6 | 181.6 | 191.6 | 201.6 | 211.6 | 221.6
B — 110.0]20.0]30.0]40.0[50.0|60.0]70.080.0 | 90.0/100.0|110.0]120.0]130.0{140.0]150.0]160.0170.0|180.0|190.0|200.0|210.0

1B%, Poles 23 |24 | 25| 26
A 231.6(241.6|251.6|261.6
B 220.01230.01240.0(250.0

186




